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ANSWERS

Fluency

Lool’o[@pngf Numbeps thab M@{j#tﬂ Make: |2 op | ess

I 2w 3
2 R
3 3 % b
b 7 % b
) 3 % 8
Multiply by 10 last
6 7 ow 3
7 3 = |0
8 0 = 8
9 7w 0

"

"

o

2

S =i L IR 6 B & o

30
48
oh
84
q6

210
270
480
350

iply to- Make o Mulki
140
90
360



Reasoning |
2% 0 %2 -40
bwdwl- 40
2% 2w 3-30
b %10 % | - 40

I haume noticed that: 2 % 5 % 3 is the odd one oul: because the: answer is: 30 ands
ﬂ\ﬂ-mmtn-ﬂm@th&nwcdculﬁdinn&i&#ﬂ.



. 2% 3-6

6% 5-30

2. 2%5-10

10 % 3 - 30
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2wl w5 - 40 b w2 %5 -40 Sl wh - 40
2wl - 40 b w5 w2 -40 Sl w2 - 40
2w wl0-40 2%|0w?-40 10 %2 %2 - 40

Yow could also write some number sentences that: include | u&m@ﬂmnumng-
numbers, suchs ast

| %4 %10 - £0 | %5 % 8 - 40

Ia]madgahmw-ﬂ'uﬂ::
2 % 20 - 40 4 % |10 - 40 and. 5 % 8 - 40

Problem, i 2z
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Sah w5-100
3% 10 %x6-180
T %3 %x3-63
296 -108
bwidwll-88
29 %10 - 180






